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JANUARY 12, 2016
UNIT 4: POLYNOMIALS

EXTRA PRACTICE:
PERIMETER, AREA AND
SUBSTITUTION WITH
POLYNOMIALS
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HOMEWORK QUESTIONS???
("Extra Practice 5 and 6" worksheets)

v
¥4

A~ X\
3 oy Ad(3d+ 4)

= (od2+ ¥ d

4. ) éJz-l—Xé
2d




Math 9 Jan 12.notebook January 12, 2016

REMEMBER...
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REMEMBER...
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PRACTICE: PERIMETER, AREA AND
SUBSTITUTION WITH POLYNOMIALS

Using the shape to the right, answer the following:
a) What is the SIMPLIFIED polynomial
that represents the PERIMETER of this shape?

T 1T2x+1

b) What is the perimeter of this shape when x =5 cm? 3'X
¢) What is the SIMPLIFIED polynomial that

represents the AREA of this shape?
d) What is the area of this shape when x =10 cm?
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PRACTICE: PERIMETER, AREA AND
SUBSTITUTION WITH POLYNOMIALS

a) Perimeter = 10x + 2 }

b) Perimeter =52 cm +2x +1
¢) Area = 6x2+ 3x

d) Area =630 cm? 3x

ay P= A(3x)+2(2x 1)
= x4+ Hx+ 2
= lox +2

L) P= 1D~ & 2
= (5 +2

2) A: bx* &+ 3

= G +3(10)

= GlrovY +30
= (ob ¥ 3o
= (L3 em*



Math 9 Jan 12.notebook January 12, 2016

PERIMETER, AREA AND SUBSTITUTION WITH POLYNOMIALS

d+3
| ]

m| m
Using the shape to the above, answer the following:

a) What is the SIMPLIFIED polynomial that represents the
PERIMETER of this shape?

b) What is the perimeter of this shape when d =3 cm?

¢) What is the SIMPLIFIED polynomial that represents the AREA
of this shape?

d) What is the area of this shape when d =7 cm?
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PERIMETER, AREA AND SUBSTITUTION WITH POLYNOMIALS

ad+3
| C i =
J 9 (D a) Perimeter =4d + 18
T - - - T T T =-=-- 6 b) Perimeter = 30 cm
4 @ c) Area=10d + 18
m| ] d) Area = 88 cm?
21+ 73

A P= ()4 ()4 (44'3)%—(&)4-(241(3)4_(43
= Hd Y ¢

LY P= 44 +1€¥
= 4(3) 419
= 12 b g

= 36cm
Y A= O+®@
= bh + bh
= 2(dt3) + 4[24+ D)
(24 +b) + (9d+ 1

= |10d + 1§
d) A=10dx\%

=16(F)+1Q
R A R
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CONCEPT REINFORCEMENT:

WORKSHEET, #1 TO #5
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